value

PC.aa.C38.1

F rimmed-means(3.58,793.70) =, p = NA, 330 = =0.13, Clgsos [-0.41, 0.15], Nyais = 371
P Bonferroni-corrected = 2e-05
PBonferroni-corrected = U.001
P Bonferroni-corrected = 1.03e-05
P Bonferroni-corrected = 1.35€~14
1.5- P Bonferroni-corrected = 1.03€~=08 -15
P Bonferroni-corrected = 0.000325 [
P Bonferroni-corrected = S.25€~0/7

1.0- -1.0
atrimmed =0.83
ﬁtrimmed =0.61
05- ﬁtrimmed =0.53 -05
ﬁtrimmed =0.25
0.0- -0.0
age0 agel age2 age3 age4
(n=371) (n=187) (n=52) (n =207) (n=207)
age

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant

anfen



